
 

Addition calculations! Work them out using your chosen method.  

There are 45 ants marching in a line.  

26 ants join the line and start marching. 

How many ants are marching altogether?  

25 children are in the swimming pool.  

Another 12 children enter the pool.  

How many children are in the pool in total?  
 

There are 46 people on the bus. 

Then 14 more get on.  

How many people are now on the bus?  

 

 

 

45 + 26 = 71 

25 + 12 = 37 

46 + 14 = 60 



 
Philip scored 53 points on his computer 

game on Monday. 

On Tuesday he scored 45.  

What was his total score?  
 

Fred had 32 Lego cards.  

His Nanny got him another 23. 

How many Lego cards does he have now?  
 

Rosie collected 47 fallen leaves on her daily 

walk. 

Her brother collected 35. 

How many leaves did they collect altogether?   
 

 

 

  

53 + 45 = 98 

32 + 23 = 55 

47 + 35 = 82 
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